Vi

|dentifying Decimal Equation Patterns Name:
Use decimal multiplication and division rulestofill in the blank. Answers
1) x 100 = 35,170
1.
2) 8,032.26 + 10 =
2.
3 9,095 + 10 =
3.
4) x 10 = 6,085.9
4,
%) 6,402.6 + 10 =
5.
6) 571.742 x 10 =
6.
L 749.449 x 10 =
7.
8)
705.983 x = 7,059.83
8.
2 126.36 x = 1,263.6
9.
10) 164.5 x 1,000 =
10.
1) 1,951 + =195.1
11.
12) + 100 = 804.93
12.
13) 490,100 + 1,000 =
13.
19) 216.75 x = 2,167.5
14.
15
) + 1,000 = 416.14
15.
16) 310.382 x = 310,382
16.
17
) x 100 = 61,670
17.
18) 54.89 x 1,000 =
18.
19
) x 10 = 8,453.5
19.
20
) +10= 2826
20.
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ﬂé |dentifying Decimal Equation Patterns Name. Answer Key

Use decimal multiplication and division rulestofill in the blank. Answers
1)
2) 8,032.26 + 10 = 803.226
T T T ——— .. 803.226
3 9,095+ 10= 909.5
T T —— 3 909.5
4 608.59 x 10 = 6,085.9
— . 4. 608.59
%) 6,402.6 + 10 = 640.26
T T T ——— 5. 640.26
®) 571.742 x 10 = 5,717.42
' I 6. 9,/17.42
7)
749.449 x 10 = 7,494.49
— 7 1,494.49
8 705.983 x 10 = 7,059.83
EE— 8. 10
9)
126.36 x 10 = 1,263.6
— 9. 10
10) 164.5 x 1,000 = 164,500
T 10. 164,500
1) 1,951 + 10 =195.1
— 11, 10
12)
80,493 =+ 100 = 804.93
— 1. 80,493
13)
490,100 + 1,000 = 490.1
E— 13 490.1
14) 216.75 x 10 =2,167.5
14. 10
15) 416,140 + 1,000 = 416.14
— ' 5. 416,140
16)
310.382 x 1,000 = 310,382
- 1. 1,000
17) 616.7 x 100 = 61,670
- 17.  616.7
18) 54.89 x 1,000 = 54,890
- 18 94,890
19) 845.35 x 10 = 8,453.5
- 19. 845.35
20) 2,826 +10=282.6
- 0. 2,826
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